‘meas e Small Ground/Roof Mount
METALWE RS With Channels

ITEM

Foot

Ponel Support

Connector

Outer Rail

Inner Rail

174-20 x 3/4" SS Bolt

1/4-20 SS Flat Wosher

174-20 SS Lock Washer

1/4-20 SS Nut

5/16-18 x 1" SS Bolt

5/16-18 SS Flat Wosher

5/16-18 SS Lock Washer
16-18 S

§
8
0
5/16-18 SS Nut

‘ Module mounting bolt
Figure 3 (four per nodule) \
Photovoltoic Modules
(User supplied) Af:ﬁ\k\/~i??i”/\
Figure 4 j\ - \

rrrrr ) Connector (behind)
N /z////////ﬁ [f Used (See Figure 5)

/420 x A" 5.5, N
Mounting Structure “‘ﬁ\\\&\\ "j o
Hardware, ~/ SR

(See Figure ) \

Outer Rail, 4“‘\\\\Q\

Mounting Structure Bolt

(See Figure 3)



Figure 4 Figure 5

Installation Steps:

Read all of the instructions prior to beginning assembly.

1. Lay the modules face down on a protected surface in appropriate orientation.

2. Lay the Panel Supports on the back of the modules as shown and attach
using the hardware supplied in the “Standard Module Kit(s)”. DO NOT
TIGHTEN until the modules are aligned properly and Panel Supports are
parallel.

3. Assemble Inner and Outer Rails using % inch supplied hardware and attach
Rails to the back of the Panel Supports.

4. Attach Feet using 5/16-inch hardware and set on the user supplied foundation
bolts and tighten.

5. Adjust tilt angle to module manufacturers recommendation. Seasonal tilt
adjustment is achieved by adjusting the Inner/Outer Rail Assembly’s overall
length.

6. Tighten hardware to following torque values:

a. 1/4-inch hardware to 7 ftibs
b. 5/16-inch hardware to 8.3 ftibs



